ECE
1270

PRACTICE FINAL EXAM
SOLUTION Prob 3

THE
UNIVERSITY
OFUTAH

; . i soa ‘
: — A :
:;f Lo i ﬁ . ae +i ! o
= A % s I . :
2O FIY &), (DhsV
t i Lo & o L
| _a) Chogse._fik“&bath_wlu_nhsﬂ_mnx_guﬂ_{mwm_ﬂmi_g zTheV :
] o i o :
aolh: | | Take T e_v'e_nm ‘eg_mlqif.ni: ._,__oJ';_CJl:cLuL:E_.mi-.h_RSPedt '
| o ; i
? 4o ;Lgmnmts_g_,bimﬁmwt 2, \ - v ‘ :
| i | ! :
| I R | f ;
i . i ! : i : :
‘I it : i : :
. V4 h=_open circuit qu_b or. Vi, ‘ 3
i ! ;
L. Usie INede=V method ; o find V=~ !
! : ; i 1
=V, 4 Vi |+ V,-jsv = 0A |
160 scri-jso.sz. 505
S S (TP G P S W
IR N \ oo | sexiSoq 502 | 502 |
' A NN v, (- (50+,50.2) + 11 + So+;50.2 \ = |3 5oy (50+5350.2)
— e e e e seriied ) = (o
; % i : | 106 ; 509 502
% j Vv, (=i =30 w1 +e:) = 1 (8o+550) v |
% ’ \ ) 421 H J J , d J P4 2
! L ; i
, |
V. 3431\ = ~50+35 Vv
\ 2 727
: i
Vi (B+}) = —100 +)1d0 v
L
i i .
| Vi = ~looxjlob = —iop+yiop  (3=}) v
’ 3+ 10
: I : .
i | i | ! !
/= (-‘-lo‘v'. 0)(3-3}) = =30+10 + j(Ro+ 10) v |
NI .
\ = V. = ~204 40 V !
in: i < i !
; L N i f '
; ; To Tihd Zg we | connect a lv s/;m;cg.__a-l: q b
and__turn _+the inde pealent .sov Sourde ~£:o ov -
3 ; N L, ? TR ‘
, h{e,_JmAI.st_.ke.e;L__-tbe.;_Agﬁeadm:t_some hfame‘y_er.é = !




ECE .
OFUTAH
1270
I T
3. a)l (cont.) B = 1 w .| flaws ints 'a'' termipall
: N ! [ — Y ——
1 | Ln wiﬂ: P = 1 0° A ! )
f L= =V, & V, + Vi ({remember,

_4' | ; {[s79) 5 +:} oL 505 is new OV, or wire\ '
_; ; ut '\¢= =/ly 0 2oy = 1v ‘
P 60 | SohSon | SO

i 2. - | '
Ty
-1 |4+ \ 4+ 3
160 50+)50 S0
= 50+ | %‘o
i +S0-350 +1 ¥ 50450
i 6o 50
I 5 = S0+ 50 = 50 \+)
L. R
| ";-J%_"'“'I'J _2;5_-\‘}2
L =, 160 I+j (3-3 = ool [B+ils j(a) ]
| | 3+ [3-i 10
j =10 (Ll'i-j?-)
i ] = D+ 120
[ 3 4) = 4
ave ”®
For [ ma hipower iy 2wk use gz = 2,
Par) ?’L - L" ".ZD-Q.
b)  Calculake | ma ve | power absorked| by iz,
< \ &
' -
—-soln: P = quel power = | estl Ry 1= ]E_’?.!- R =_fE3 R
A V2 ra
4o |30 24 )
+
Y1h (% 27l Ia._ = -j é‘ Z T, = v = Vi
} , ~) I.‘o.‘,‘ 20-]—“0-—52&.‘2. &Lﬂ_
— 2 k= o710
Lo Pi= L lugl o400 = 3icod+ 4 |- 4D W=l 200 46= 6.29W
et || 2w ® lorf






